i‘,‘, Jabiru J160 Constructors Manual
Post-Paint>Wings> Prepare wings for fitting
Post-Paint>Wings>Prepare wings for fitting

Objectives of thistask:
To prepare the wings prior to fitting them to thisélage.

Materialsrequired:
Resin and flock
Card #16 Flaps

Prepare the flaps

Run a 3/16” drill though the bolt hole in each flagnger to clear any paint and debris out of
the holes. Clean out the 1/4” holes in the flapparms in a similar manner.

The flaps will be fitted to the wings after the wihave been fitted to the fuselage.

Fit the ailerons

Hold the aileron in place and slide the hinge pivaaigh each hinge, starting from the side of
the hinge where the pin retaining slot was filedh@Pre-Paint>Wings> Fit ailerons task.

Fit the pin retainers and hold them in place wi122” machine thread screw.

Place the ailerons in the neutral position andegkatength of cloth tape over the top surface
of the wing and the aileron. This will prevent @ikerons from dropping when the wing is
turned right way up.

Turn the wings over so that they are right way up.

Fit the aileron cable rod end to the aileron davea with an AN3 bolt fitted through the drive
arm, then an AN960-416 (3/16") flat washer, themtihd end followed by an AN960-515
(1/4”) flat washer and a Nyloc nut as shown inghetos above.

Tighten the Nyloc nuts to safety and mark withrqueseal .

lof4 Thursday, March 5, 2009



i‘,‘, Jabiru J160 Constructors Manual
Post-Paint>Wings> Prepare wings for fitting

Fit the fuel gauges

Remove the masking tape from over the fuel gaugs bothe wing root and clean the area.

Test fit each fuel gauge — feed the float unit ithi® wing tank
and hold the gauge in place with 2 screws. Cheelethpty
indication — the needle should sit slightly beldwe tE” or
“Empty” mark as shown in the photo at top right.

If it does not then the gauge will need to be adjuls

The gauge needle is driven by a magnet that ietuby the
action of a float that sits inside the fuel tankeTgauge can be
disassembled by pulling the black nylon float drowe of the
aluminium gauge body and the magnet can be twsigltly
by hand. See the photos below for detail of theggaunit.
S et s = = : PP s«

B Y ey

vl N

| Gauge unit assembl

RN A

The gauge can then be reassembled and recheckereéat)usted if necessary) until it reads
correctly.

The nylon drive unit barrel should be a firm fitorthe gauge
body: if the fit is not entirely to your satisfamti then a smear of
Loctite 577Sealant should be applied to the barrel.

When the gauges are fitted each of the 4 retasingws and
the top and bottom gauge face screws should haweat drop
of Loctite 242Threadlocker applied before fitting.

Carefully bend the electrical spade terminals outst they are
parallel to the face of the gauge as shown cirateight.

Fit the fuel tank connector blocks

Fit the tank connector blocks through the slotsanh side of the fuselage and push each
connector block fully forward in the slot.

Use the supplied layer plate as shown in th
photo at right to hold the connector blocks i
the fully forward position and fix to the
fuselage with 2 x 8G stainless steel self-
tapping screws.

20f4 Thursday, March 5, 2009



i‘,‘, Jabiru J160 Constructors Manual
Post-Paint>Wings> Prepare wings for fitting

Fuel lines and fittings

»

< Sl

There are 3 fuel lines that need to be connectéukeinving root: the bottom 2 carry fuel to the
header tank while the top line is the breatheterheader tank. These fuel lines each need to
be fitted and then cut to an approximate lengtBG&fmm behind the rear of the wing.

All 3 lines exit the wing root towards the rear
and both of the fuel lines will have a spring
fitted to prevent any chance of a kink
developing when the lines are bent to the re¢
while the breather line faces rearwards alrea y

Fit each fuel line to the tank fitting and securg
with a hose clamp. Slide a 100mm length of
spring over each fuel line, push all the way u
to the hose clamp and fix in place with silico
sealer at the hose clamp end as shown in the
photo at right.

Label the other end of each fuel line with tapg
as shown at right. This is essential because
once the wing has been fitted it will bery
difficult to determine which line is which if it
has not been labelled.

“B” = breather line
“F” = front fuel line
“R” = rear fuel line

Fit the fuel gauge windows

Locate the clear, round fuel gauge windows and &lpe them over the outside of the fuel
gauge holes in the wing root area of the fuselage.

3of4 Thursday, March 5, 2009



i‘,‘, Jabiru J160 Constructors Manual
Post-Paint>Wings> Prepare wings for fitting

Fit the vent tubes to the fuel filler caps

The fuel filler caps came partly assembled on drd and were fitted to the fuel filler
opening on the wing in thiére-Paint>Wings>Prepare wing root task to keep dirt out of the
wing tanks, all that remains now is for you tatlfie vent tubes to the fuel caps.

Working on one wing at a time, remove the fuel aagd place a clean cloth or a piece of tape
over the fuel filler opening so that no dirt or dslxan fall into the tank during this process.
Start by carefully cleaning away any paint from tiye of the fuel cap and in particular from
the vent tube hole in the top of the cap.

ITEM | PART NUMBER DESCRIPTION Q
1 |402159N EARTH WIRE ASSY
4A059C0D VENTED WING FUEL TANK CAP BODY

Y APPLY LOCTITE 620 TO VENT
PRESS FIT INTO CAP.

T

1

1

PG4A001TN O'RING BS224 1
MS35206-245 SCREW 8-32 X 1/2 LONG 1
PHOS35N 1/4" x 0.75" UNC CAP SCREW 1
PH9952N SPEED NUT 6 GAUGE 1
PHO139N SCREW P/HEAD SELF TAPPING 6GG X 1/2 1
1

1

1

1

1

1

1

1

IR PN RN

PH2A000N PLASTIC P CLIP - SUIT 6G HARDWARE

9 [PGO158N BS014V O RING

10 |2079014 BODY FUEL FILLER - 2" WING TANK

11 PH4A022N STAINLESS STEEL ROLL PIN DIA 2x 12 LONG

12 |4A059G0D VENTED WING FUEL TANK CAP SURGE VALVE BODY

13 |PH4A025N ACETAL BALL 3/16" (SURGE BALL VALVE J160 FUEL CAP)
14 |4A059B0D VENTED WING FUEL TANK CAP

15 |4A059D0D VENTED WING FUEL TANK CAP VENT

APPLY LOCTITE 620 TO TOP OF
VENT TUBE & PRESS VALVE BODY
ON. MAKE SURE VENT HOLES ARE
ORIENTED TOWARDS LOCATING
ROLL PIN AND THAT VALVE BALL
IS INSIDE.

BEFORE ASSEMBLY 4 NOTCHES IN
TOP EDGE OF TUBE APPROX 1 MM
DEEP. REMOVE ALL BURRS.

SCREW LEADER END FITTIN
BETWEEN SCREW & INSIDE
OF FILLER SOCKET. SCREW

THRU TO P CLIP & SPEED
CLIP AS SHOWN

Use a file to cut 4 notches each 1mm deep intoap®f the vent tube. Remove all burrs.

Fit the notched end of the vent tube to the vept-cthe vent tube should be a snug fit into
the vent cap, use fine sandpaper if required ® tsie tube to a good fit. Now, working upside
down, drop the small white vent ball into the veap and use a smear of Loctite 620 to fix
the vent tube into the vent cap. Make sure thdtingthas caught the vent ball — the ball
should still rattle in the vent cap when the asdethhube and cap is shaken.

Fit the vent tube to the hole in the top of the €dhe vent tube should be a snug fit into the
hole, use fine sandpaper if required to size the fand then fix it in place with Loctite 620
with the breather holes in the vent cap facing tolwahe outside of the fuel cap.

This completes thBost-Paint>Wngs> Prepare wings for fitting task.

4 0of 4 Thursday, March 5, 2009



